$\frac{F A S C I C U L I M A T H E M A T I C I}{Nr 52}$

Ali Olgun and Fatma Taşdelen

ON THE RATES OF CONVERGENCE OF CERTAIN BIVARIATE LINEAR POSITIVE OPERATORS

ABSTRACT. In this paper, we present a sequence of linear positive bivariate operators and investigate the approximation properties of them. Next we study the rates of converge of this approximation by means modulus of continuity and functions from Lipschitz class. After we give a Voronovskaya type theorem for n Morever, we give an r th order generalization of these operators. Finally, we investigate approximation properties of this generalization and observe the rates of convergence for them.

KEY WORDS: linear positive operator, modulus of continuity, order of approximation, Voronovskaya type theorem, Kantorovich operators, Beta operators.

AMS Mathematics Subject Classification: 41A25, 41A36.

1. Introduction

Let $f \in C([0,1])$. The well known Beta operators are defined as follows:

$$B_n(f;x) := \int_0^1 \frac{t^{nx-1} (1-t)^{n(1-x)-1}}{B(nx, n(1-x))} f(t) dt,$$

where $n \in \mathbb{N} = \{1, 2...\}, x \in (0, 1)$ and B is the familiar Beta function and we set $B_n(f, k) := f(k), k = 0, 1$. Some approximation properties of Beta operators were studied in [5], [6], [10] and references there in.

Let $x \in [0,1]$ and $f \in C([0,1])$. The Bernstein-Kantorovich operators are defined by

$$K_{n}(f;x) := n \sum_{k=0}^{n} {\binom{n}{k}} x^{k} (1-x)^{n-k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} f(s) \, ds, \ n \in \mathbb{N}.$$

Also some approximation properties of K_n can be wieved in [1].

Now, we construct the tensor product of B_m and K_n , $B_{mn} := B_m^{(1)} \circ K_n^{(2)}$, here " \circ " denotes the composition and $B_m^{(1)}$ and $K_n^{(2)}$ are parametric extensions of B_m and K_n . Clearly B_{mn} , $m, n \in \mathbb{N}$ are linear positive operators.

$$B_{mn}(f;x,y) := n \sum_{k=0}^{n} \binom{n}{k} y^{k} (1-y)^{n-k} \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} f(\theta,s) \frac{\theta^{mx-1} (1-\theta)^{m(1-x)-1}}{B(mx,m(1-x))} d\theta ds,$$

where $f \in C(I^2)$, i.e., continuous real-valued functions defined on I^2 , $I^2 := [0,1] \times [0,1]$.

In this paper, we study the approximation properties of the operators B_{mn} and obtain the rates of convergence by means of modulus of continuity and functions from Lipschitz class. For second order differentiable functions, Voronovskaya [11] was the first to prove a theorem for Bernstein polynomials known as Voronovskaya Theorem. Later on, it was studied by many authors for some other linear positive operators (e.g. [3], [4], [8]). For B_{mn} , we will also prove a Voronovskaya type theorem for an arbitrary continuous function by a function having all continuous partial derivatives up to order two in B_{mn} . Moreover, we state an r th oder generalization of B_{mn} . It is known that r th order generalization of linear positive operators of functions with one variable were introduced in [7], [9]. Finally, we study the approximation properties of this generalization and establish the rates of convergence.

2. Approximation Properties of B_{mn}

In this section, we give some approximation properties of B_{mn} on I^2 .

Lemma 1. For all $m, n \in N$, we have

$$B_{mn}(1; x, y) = 1,$$

$$B_{mn}(\theta; x, y) = x,$$

$$B_{mn}(s; x, y) = y + \frac{1}{2n},$$

$$B_{mn}(\theta^2 + s^2; x, y) = \frac{mx^2 + x}{m+1} + y^2 + \frac{y(1-y)}{n} + \frac{y}{n} + \frac{1}{3n^2}$$

Using Lemma 1 we have the following theorem for the convergence of the operators B_{mn} .

Theorem 1. Let $f(x,y) \in C(I^2)$, $(x,y) \in I^2$, then $B_{mn}(f;x,y)$ converges to f(x,y) uniformly on I^2 i. e.:

$$\lim_{m,n\to\infty} \|B_{mn}(f;x,y) - f(x,y)\|_{C(I^2)} = 0.$$

Proof is clear from Lemma 1 and the well known Volkov's theorem [10]. Now, we give the following Lemmas which we shall use.

Lemma 2. For all $m, n \in N$, we have

$$\begin{split} B_{mn}\left(\theta s;x,y\right) &= x\left(y+\frac{1}{2n}\right),\\ B_{mn}\left(\theta^{2};x,y\right) &= \frac{mx^{2}+x}{m+1},\\ B_{mn}\left(\theta^{3};x,y\right) &= \frac{(mx+2)\left(mx+1\right)mx}{(m+2)\left(m+1\right)m},\\ B_{mn}\left(\theta^{4};x,y\right) &= \frac{(mx+3)\left(mx+2\right)\left(mx+1\right)mx}{(m+3)\left(m+2\right)\left(m+1\right)m},\\ B_{mn}\left(s^{2};x,y\right) &= y^{2}+\frac{y\left(1-y\right)}{n}+\frac{y}{n}+\frac{1}{3n^{2}},\\ B_{mn}\left(s^{3};x,y\right) &= \frac{4n\left(n-2\right)\left(n-1\right)y^{3}+18n\left(n-1\right)y^{2}+12ny+1}{4n^{3}},\\ B_{mn}\left(s^{4};x,y\right) &= \frac{(n-3)\left(n-2\right)\left(n-1\right)y^{4}+8\left(n-2\right)\left(n-1\right)y^{3}}{n^{3}}\\ &+ \frac{15\left(n-1\right)y^{2}+5y}{n^{3}}+\frac{1}{5n^{4}}. \end{split}$$

Lemma 3. For operators B_{mn} we have

$$B_{mn}\left((s-y)^{2}; x, y\right) = \frac{y(1-y)}{n} + \frac{1}{3n^{2}},$$

$$B_{mn}\left((\theta-x)^{2}; x, y\right) = \frac{x(1-x)}{m+1},$$

$$B_{mn}\left((\theta-x)(s-y); x, y\right) = 0,$$

$$B_{mn}\left((\theta-x)^{4}; x, y\right) = \frac{3(m-6)x^{4} + 6(6-m)x^{3} + 3(m-8)x^{2} + 6x}{(m+3)(m+2)(m+1)},$$

$$B_{mn}\left((s-y)^{4}; x, y\right) = \frac{3(n-2)y^{4} + (16-6n)y^{3} + 5(n-3)y^{2} + 4y}{n^{3}} + \frac{1}{5n^{4}}.$$

In the sequel, we take the operators B_{mn} , as follows:

(1)
$$B_{mn}(f;x,y) = n \sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) f(\theta,s) d\theta ds,$$

where

(2)
$$P_n(y) = \binom{n}{k} y^k (1-y)^{n-k}$$

and

(3)
$$\psi_{m,x}(\theta) = \frac{\theta^{mx-1} (1-\theta)^{m(1-x)-1}}{B(mx, m(1-x))}$$

for the sake of shortness.

3. Rates of convergence

In this section, we study the rates of convergence in Theorem 1 by means of total modulus of continuity and elements of Lipschitz class.

Let $f \in C(I^2)$. The total modulus of continuity of f, denoted by $w(f; \delta)$, is defined by

$$w(f;\delta) = \max_{\sqrt{(x_1 - x_2)^2 + (y_1 - y_2)^2} \le \delta} |f(x_1, y_1) - f(x_2, y_2)|.$$

Morever, partial modulus of continuity with respect to x and y are given by

$$w^{(1)}(f;\delta) = \max_{0 \le y \le 1} \max_{|x_1 - x_2| \le \delta} |f(x_1, y) - f(x_2, y)|,$$

and

$$w^{(2)}(f;\delta) = \max_{0 \le x \le 1} \max_{|y_1 - y_2| \le \delta} |f(x, y_1) - f(x, y_2)|,$$

respectively. It is known that a necessary and sufficient condition for a function f to be in $C(I^2)$ is

$$\lim_{\delta \to 0} w\left(f;\delta\right) = 0.$$

We shall use the following property of the total modulus of continuity:

$$w(f;\lambda\delta) \le (1+[\lambda])w(f;\delta)$$

for any $\lambda \in \mathbb{R}$, here $[\lambda]$ is the greatest integer that does not exceed λ (the same properties also hold for partial modulus of continuity), and

(4)
$$|f(\theta,s) - f(x,y)| \le w(f;\delta) \left(1 + \frac{\sqrt{(\theta-x)^2 + (s-y)^2}}{\delta}\right)$$

The next result gives the rates of convergence of the sequence $\{B_{mn}(f; x, y)\}, f \in C(I^2)$, in Theorem 1 by means of the total modulus of continuity.

Theorem 2. For all $f \in C(I^2)$, we have

(5)
$$||B_{mn}(f;x,y) - f(x,y)||_{C(I^2)} \le \frac{3}{2}w(f;\delta_{mn}),$$

where $\delta_{mn} = \sqrt{\frac{1}{m+1} + \frac{3n+4}{3n^2}}$.

120

Proof. Let $f \in C(I^2)$. Since B_{mn} are linear and monotone from (4) then we get that

(6)
$$|B_{mn}(f;x,y) - f(x,y)| \le B_{mn}(|f(\theta,s) - f(x,y)|;x,y) \le w(f;\delta_{mn}) B_{mn}\left(1 + \frac{\sqrt{(\theta - x)^2 + (s - y)^2}}{\delta_{mn}};x,y\right) \le w(f;\delta_{mn}) \left\{1 + \frac{n}{\delta_{mn}}\sum_{k=0}^n P_n(y) \times \int_{\frac{k+1}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) \sqrt{(\theta - x)^2 + (s - y)^2} d\theta ds\right\}.$$

Applying Hölder's inequality to the inner integral in (6), then (6) turns into the following from,

$$B_{mn} | (f; x, y) - f (x, y) | \le w (f; \delta_{mn}) \left\{ 1 + \frac{n}{\delta_{mn}} \sum_{k=0}^{n} P_n (y) \right\}$$
$$\times \int_{\frac{k}{n}}^{\frac{k+1}{n}} \left\{ \int_{0}^{1} \left[(\theta - x)^2 + (s - y)^2 \right] \psi_{m,x} (\theta) \, d\theta \right\}^{\frac{1}{2}} \left\{ \int_{0}^{1} \psi_{m,x} (\theta) \, d\theta \right\}^{\frac{1}{2}} \, ds = 0.$$

Again applying Hölder's inequality to the second (outer) integral, then the last inequality takes the from

$$|B_{mn}(f;x,y) - f(x,y)| \le w(f;\delta_{mn}) \left\{ 1 + \frac{n}{\delta_{mn}} \sum_{k=0}^{n} P_n(y) \right\} \\ \times \left[\int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \left[(\theta - x)^2 + (s - y)^2 \right] \psi_{m,x}(\theta) \, d\theta \, ds \right]^{\frac{1}{2}} \left[\int_{\frac{k}{n}}^{\frac{k+1}{n}} ds \right]^{\frac{1}{2}} \right\}.$$

Finally, applying the Cauchy-Schwarz-Bunyakowsky inequality to the summation in the last inequality, then we obtain the following:

$$|B_{mn}(f;x,y) - f(x,y)| \le w(f;\delta_{mn}) \left\{ 1 + \frac{n}{\delta_{mn}} \right\}$$
$$\times \left[\frac{1}{n} \sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \left[(\theta - x)^2 + (s - y)^2 \right] \psi_{m,x}(\theta) \, d\theta \, ds \right]^{\frac{1}{2}} \right\},$$

here $P_n(y)$ and $\psi_{m,x}(\theta)$ are defined by (2) and (3), respectively. Using Lemma 1 and Lemma 2 and taking maximum over I^2 , the desired result is obtained in (5).

We have the following theorem for the partial modulus of continuities.

Theorem 3. Let f be continuous on I^2 and bounded on \mathbb{R}^2 , then we have

$$|B_{mn}(f;x,y) - f(x,y)| \le \frac{3}{2} \left\{ w^{(1)}(f;\delta_m) + w^{(2)}(f;\delta_n) \right\},\$$

where $\delta_m = \frac{1}{\sqrt{m+1}}$, $\delta_n = \sqrt{\frac{3n+4}{3n^2}}$ and $w^{(1)}$, $w^{(2)}$ are the partial modulus of continuity with respect to x and y, respectively.

Proof. For proof, we can use similarly way in Theorem 2. Let f(x, y) be continuous on I^2 and bounded on R^2 , then we get that following:

$$\begin{aligned} |B_{mn}(f;x,y) - f(x,y)| &\leq B_{mn}(|f(\theta,s) - f(x,y)|;x,y) \\ &= B_{mn}(|f(\theta,s) - f(\theta,y) + f(\theta,y) - f(x,y)|;x,y) \\ &\leq B_{mn}(|f(\theta,s) - f(\theta,y)|;x,y) + B_{mn}(|f(\theta,y) - f(x,y)|;x,y) \\ &\leq w^{(2)}(f;\delta_n) B_{mn}\left(1 + \frac{|s-y|}{\delta_n};x,y\right) \\ &+ w^{(1)}(f;\delta_m) B_{mn}\left(1 + \frac{|\theta-x|}{\delta_m};x,y\right) \\ &= \frac{3}{2}\left\{w^{(1)}(f;\delta_m) + w^{(2)}(f;\delta_n)\right\}.\end{aligned}$$

Thus, the proof of Theorem 3 is finished.

Now, we will investigate the rates of convergence of B_{mn} by means of the Lipschitz class $Lip_M(\gamma)$ for $0 < \gamma \leq 1$. Recapulate that $Lip_M(\gamma)$ is given by

(7)
$$|f(x_1, y_1) - f(x_2, y_2)| \le M \left[(x_1 - x_2)^2 + (y_1 - y_2)^2 \right]^{\frac{\gamma}{2}},$$

here $(x_1, y_1), (x_2, y_2) \in I^2$ and M > 0.

Theorem 4. Let $f \in Lip_{M}(\gamma)$, $0 < \gamma \leq 1$, then we have

(8)
$$||B_{mn}(f;x,y) - f(x,y)||_{C(I^2)} \le \frac{M}{2^{\gamma}} \delta_{mn}^{\gamma},$$

where δ_{mn} is given by $\delta_{mn} = \sqrt{\frac{1}{m+1} + \frac{3n+4}{3n^2}} = \sqrt{\delta_m^2 + \delta_n^2}$, which is the same in Theorem 2, and δ_m , δ_n are the same as in Theorem 3.

Proof. Let $f \in Lip_M(\gamma)$, $0 < \gamma \leq 1$. Using linearicity and monotonicity of B_{mn} , we get that

(9)
$$|B_{mn}(f;x,y) - f(x,y)| \le B_{mn}(|f(\theta,s) - f(x,y)|;x,y)$$

 $\le Mn\sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) \left[(\theta-x)^2 + (s-y)^2\right]^{\frac{\gamma}{2}} d\theta ds$

by (7). Applying Hölder's inequality to the inner integral in (9), we obtain that

$$\begin{aligned} |B_{mn}(f;x,y) - f(x,y)| &\leq Mn \sum_{k=0}^{n} P_n(y) \\ &\times \int_{\frac{k}{n}}^{\frac{k+1}{n}} \left\{ \int_{0}^{1} \psi_{m,x}(\theta) \left[(\theta - x)^2 + (s - y)^2 \right] d\theta \right\}^{\frac{\gamma}{2}} \left\{ \int_{0}^{1} \psi_{m,x}(\theta) d\theta \right\}^{\frac{2-\gamma}{2}} ds \\ &= Mn \sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \left\{ \int_{0}^{1} \psi_{m,x}(\theta) \left[(\theta - x)^2 + (s - y)^2 \right] d\theta \right\}^{\frac{\gamma}{2}} ds. \end{aligned}$$

Again, to the outher integral is applied by Hölder's inequality, then the last inequality takes the following form:

$$\begin{aligned} |B_{mn}(f;x,y) - f(x,y)| \\ &\leq Mn \sum_{k=0}^{n} P_n(y) \left\{ \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) \left[(\theta - x)^2 + (s - y)^2 \right] d\theta ds \right\}^{\frac{\gamma}{2}} \left\{ \int_{\frac{k}{n}}^{\frac{k+1}{n}} ds \right\}^{\frac{2-\gamma}{2}} \\ &= Mn \sum_{k=0}^{n} P_n(y) \left\{ \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) \left[(\theta - x)^2 + (s - y)^2 \right] d\theta ds \right\}^{\frac{\gamma}{2}} \left\{ \frac{1}{n} \right\}^{\frac{2-\gamma}{2}}. \end{aligned}$$

Now, applying Hölder's inequality for the sum in the last inequality we reach to the following:

$$|B_{mn}(f;x,y) - f(x,y)| \le M \left\{ n \sum_{k=0}^{n} P_n(y) \frac{1}{n} \right\}^{\frac{2-\gamma}{2}} \times \left\{ n \sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) \left[(\theta - x)^2 + (s - y)^2 \right] d\theta ds \right\}^{\frac{\gamma}{2}}.$$

Using Lemma 1, Lemma 2 and taking maximum over I^2 , (8) is obtained easily, which completes the proof.

4. A Voronovskaya type theorem

In this section, we will give a Voronovskaya type Theorem in $C^2(I^2)$ for operators B_{mn} for m = n.

Let C^2 denote the space of all functions f having all continuous partial derivatives up to order 2 exist, i.e.:

$$C^{2} := \left\{ f \in C : f_{x^{i}y^{j}} \text{ exist for } 0 \leq i, j \leq 2 \\ \text{and } 0 \leq i+j \leq 2 \text{ is continuous} \right\},$$

where $f_{x^iy^j} := \frac{\partial^2 f(x,y)}{\partial x^i \partial y^j}$.

Firstly, we need the following lemma.

Lemma 4. Let $(x, y) \in I^2$. Then, we get

(10)
$$\lim_{m \to \infty} m^2 B_{mn} \left((\theta - x)^4; x, y \right) = 3x^4 - 6x^3 + 3x^2,$$

(11)
$$\lim_{n \to \infty} n^2 B_{mn}\left((s-y)^4; x, y\right) = 3y^4 - 6y^3 + 5y^2.$$

Proof. By Lemma 3 and the linearity of B_{mn} , we may write that

$$m^{2}B_{mn}\left((\theta-x)^{4};x,y\right)$$

$$= m^{2}\left[\frac{3(m-6)x^{4}+6(6-m)x^{3}+3(m-8)x^{2}+6x}{(m+3)(m+2)(m+1)}\right]$$

$$n^{2}B_{mn}\left((s-y)^{4};x,y\right)$$

$$= n^{2}\left[\frac{3(n-2)y^{4}+(16-6n)y^{3}+5(n-3)y^{2}+4y}{n^{3}}+\frac{1}{5n^{4}}\right]$$

Taking limit as $m \to \infty$, $n \to \infty$ respectively, then, the proof is complete.

Theorem 5. For every $f \in C^2(I^2)$ and $(x, y) \in I^2$, we have

(12)
$$\lim_{n \to \infty} n \{ B_{nn} (f; x, y) - f (x, y) \} = \frac{1}{2} \{ f_y + x (1 - x) f_{xx} + y (1 - y) f_{yy} \}.$$

Proof. Let $(x, y) \in I^2$ and $f_x, f_y, f_{xx}, f_{xy}, f_{yy} \in C^2(I)$. Define the function Φ as follows:

$$\Phi_{(x,y)}(\theta,s) = \begin{cases} \frac{f(\theta,s) - f(x,y) - (\theta-x)f_x - (s-y)f_y}{\sqrt{(\theta-x)^4 + (s-y)^4}} \\ -\frac{\frac{1}{2}\left\{(\theta-x)^2 f_{xx} + 2(\theta-x)(s-y)f_{xy} + (s-y)^2 f_{yy}\right\}}{\sqrt{(\theta-x)^4 + (s-y)^4}}, & (\theta,s) \neq (x,y) \\ 0, & (\theta,s) = (x,y). \end{cases}$$

Then, by assumption we have $\Phi_{(x,y)}(x,y) = 0$ and the function $\Phi_{(x,y)}(\cdot, \cdot) \in C^2(I^2)$. Hence, by the Taylor formula for $f \in C^2(I^2)$, we get

(13)
$$f(\theta, s) = f(x, y) + (\theta - x) f_x + (s - y) f_y + \frac{1}{2} \left\{ (\theta - x)^2 f_{xx} + 2 (\theta - x) (s - y) f_{xy} + (s - y)^2 f_{yy} \right\} + \Phi_{(x,y)} (\theta, s) \sqrt{(\theta - x)^4 + (s - y)^4}.$$

We apply the linear operators nB_{nn} to (13) and using Lemma 2, we have

(14)
$$n \{B_{nn}(f;x,y) - f(x,y)\} = \frac{1}{2} \left\{ f_y + \frac{nx(1-x)}{n+1} f_{xx} + \left[y(1-y) + \frac{1}{3n} \right] f_{yy} \right\} + nB_{nn} \left(\Phi_{(x,y)}(\theta,s) \sqrt{(\theta-x)^4 + (s-y)^4}; x, y \right).$$

If we apply the Cauchy-Schwarz inequality for the second term on the right-hand side of (14) then we conclude that

(15)
$$n \left| B_{nn} \left(\Phi_{(x,y)} \left(\theta, s \right) \sqrt{\left(\theta - x \right)^4 + \left(s - y \right)^4}; x, y \right) \right|$$

 $\leq \left[B_{nn} \left(\Phi_{(x,y)}^2 \left(\theta, s \right); x, y \right) \right]^{\frac{1}{2}}$
 $\times \left[n^2 B_{nn} \left(\left(\theta - x \right)^4 + \left(s - y \right)^4; x, y \right) \right]^{\frac{1}{2}}$
 $= \left[B_{nn} \left(\Phi_{(x,y)}^2 \left(\theta, s \right); x, y \right) \right]^{\frac{1}{2}}$
 $\times \left[n^2 B_{nn} \left(\left(\theta - x \right)^4; x, y \right) + n^2 B_{nn} \left(\left(s - y \right)^4; x, y \right) \right]^{\frac{1}{2}} .$

Let $\varphi_{(x,y)}(\theta, s) = \Phi_{(x,y)}^2(\theta, s)$. In this case, observe that $\varphi_{(x,y)}(x, y) = 0$ and $\varphi_{(x,y)}(\cdot, \cdot) \in C^2(I^2)$. From Theorem 1,

(16)
$$\lim_{n \to \infty} B_{nn} \left(\Phi^2_{(x,y)} \left(\theta, s \right); x, y \right) = \lim_{n \to \infty} B_{nn} \left(\varphi_{(x,y)} \left(\theta, s \right); x, y \right) \\ = \varphi_{(x,y)} \left(x, y \right) = 0.$$

Using (16) and Lemma 4, we have from (15)

(17)
$$\lim_{n \to \infty} n B_{nn} \left(\Phi_{(x,y)}(\theta,s) \sqrt{(\theta-x)^4 + (s-y)^4}; x, y \right) = 0.$$

On the other hand, observe that

(18)
$$\lim_{n \to \infty} \frac{nx (1-x)}{n+1} = x (1-x), \quad \lim_{n \to \infty} \frac{1}{3n} = 0.$$

Then, taking limit as $n \to \infty$ in (14) and using (17) and (18) we have (12). So the proof is completed.

5. A Generalization of order r of B_{mn}

Let $C^r(I^2)$, $r \in \mathbb{N} \cup \{0\}$, denote the space of all functions f having all continuous partial derivatives up to order r exist at $(x, y) \in I^2$. Let $B_{mn}^{[r]}$ denote the following generalization of B_{mn} .

(19)
$$B_{mn}^{[r]}(f;x,y) = n \sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) P_{r,(\theta,s)}(x-\theta,y-s) d\theta ds,$$

where

(20)
$$P_{r,(\theta,s)}(x-\theta,y-s) = \sum_{h=0}^{r} \sum_{i+j=h} \frac{1}{h!} {h \choose j} f_{x^i y^j}(\theta,s) (x-\theta)^i (y-s)^j,$$

and by the subscripts appeared on $f_{x^iy^j}$, we denote to write the partial derivatives of f, i.e.: $f_{x^iy^j} := \frac{\partial^r f(x,y)}{\partial x^i \partial y^j}$; r = i + j. Now let us write

(21)
$$(x - \theta, y - s) = u(\alpha, \beta),$$

where (α, β) is a unit vector, u > 0 and let us write

(22)
$$F(u) = f(\theta + u\alpha, s + u\beta) = f(\theta + (x - \theta), s + (y - s)).$$

Clearly Taylor's formula for F(u) at u = 0 turns into Taylor's formula for f(x, y) at (θ, s) . Morever, r - th derivative takes the form (see [2])

(23)
$$F^{[r]}(u) = \sum_{i+j=r} \binom{r}{j} f_{x^i y^j} \left(\theta + u\alpha, s + u\beta\right) \alpha^i \beta^j, \ r \in \mathbb{N}.$$

Theorem 6. Let $f \in C^r(I^2)$ and $F^{[r]}(u) \in Lip_M(\gamma)$, then the following inequality

(24)
$$\left\| B_{mn}^{[r]}(f;x,y) - f(x,y) \right\|_{C(I^2)} \\ \leq \frac{\gamma M B(\gamma,r)}{(\gamma+r)(r-1)!} \left\| B_{mn}^{[r]}(|(x,y) - (\theta,s)|^{r+\gamma};x,y) \right\|_{C(I^2)}$$

holds, where $F^{[r]}(u)$ is given by (23), $B(\gamma, r)$ is the familiar Beta function, $0 < \gamma \leq 1$ and M > 0.

Proof. From (19) and (20), we have

(25)
$$f(x,y) - B_{mn}^{[r]}(f;x,y)$$

= $n \sum_{k=0}^{n} P_n(y) \int_{\frac{k}{n}}^{\frac{k+1}{n}} \int_{0}^{1} \psi_{m,x}(\theta) \{f(x,y) - P_{r,(\theta,s)}(x-\theta,y-s)\} d\theta ds.$

Using the integral form of the remainder term appeared in the previous formula, we obtain that

(26)
$$f(x,y) - P_{r,(\theta,s)} (x - \theta, y - s) = \frac{1}{(r-1)!} \int_{0}^{1} \sum_{i+j=h} \frac{1}{h!} {h \choose j} (x - \theta)^{i} (y - s)^{j} \times f_{x^{i}y^{j}} (\theta + t (x - \theta), s + t (y - s)) (1 - t)^{r-1} dt.$$

(26) turns into the following form:

(27)
$$F(u) - \sum_{h=0}^{r} \frac{1}{h!} F^{(h)}(0) u^{h}$$
$$= \frac{u^{r}}{(r-1)!} \int_{0}^{1} \left[F^{(r)}(tu) - F^{(r)}(0) \right] (1-t)^{r-1} dt$$

by using (21)-(23).

Taking (21), (26) and (27) into account and considering the fact that $F^{[r]}(u) \in Lip_{M}(\gamma)$, then it follows that

(28)
$$\left| f(x,y) - P_{r,(\theta,s)}(x-\theta,y-s) \right| = \left| F(u) - \sum_{h=0}^{r} \frac{1}{h!} F^{(h)}(0) u^{h} \right|$$

Ali Olgun and Fatma Taşdelen

$$\leq \frac{|u|^{r}}{(r-1)!} \int_{0}^{1} \left[F^{(r)}(tu) - F^{(r)}(0) \right] (1-t)^{r-1} dt$$

$$\leq \frac{|u|^{r+\gamma}}{(r-1)!} MB(\gamma+1,r)$$

$$\leq \frac{M}{(r-1)!} \frac{\gamma}{\gamma+r} B(\gamma,r) |u|^{r+\gamma}$$

$$\leq \frac{M}{(r-1)!} \frac{\gamma}{\gamma+r} B(\gamma,r) |x-\theta,y-s|^{r+\gamma}.$$

Hence combining (25) and (28) we obtain (24), which completes the proof. $\hfill\blacksquare$

Now, define the function $g \in C(I^2)$ as

$$g(\theta, s) = \left| (x, y) - (\theta, s) \right|^{r+\gamma}.$$

It is clear that g(x, y) = 0. From Theorem 1 we get that

$$||B_{mn}(g;x,y)||_{C(I^2)} \to 0 \text{ as } m, n \to \infty.$$

From (24), we arrive at the following approximation:

$$\left\|B_{mn}^{[r]}\left(f;x,y\right)-f\left(x,y\right)\right\|_{C(I^2)}\to 0 \ \text{ as } \ m,n\to\infty.$$

Taking Theorem 2 and Theorem 4 into consideration the following results can be obtained from Theorem 6.

Corollary 1. Under the conditions of Theorem 6, it follows that

$$\left\| B_{mn}^{[r]}(f;x,y) - f(x,y) \right\|_{C(I^2)} \le \frac{M}{(r-1)!} \frac{\gamma}{(\gamma+r)} B(\gamma,r) \frac{3}{2} w(g;\delta_{mn})$$

here $\delta_{mn} = \sqrt{\frac{1}{m+1} + \frac{3n+4}{3n^2}}$ which is the same as in Theorem 2.

Corollary 2. Under the conditions of Theorem 6 and assuming that $g(x,y) \in Lip_{(\sqrt{2})^r}(\gamma)$ in Theorem 4, it follows that

$$\left\|B_{mn}^{[r]}\left(f;x,y\right) - f\left(x,y\right)\right\|_{C(I^2)} \le \frac{M}{(r-1)!} \frac{\gamma}{(\gamma+r)} B\left(\gamma,r\right) \frac{\left(\sqrt{2}\right)^r}{2^{\gamma}} \delta_{mn}^{\gamma},$$

where $\delta_{mn} = \sqrt{\frac{1}{m+1} + \frac{3n+4}{3n^2}}$ which is the same as in Theorem 2.

128

References

- BARBOSU DAN., Kantorovich-Stancu type operators, JIPAM. J. Inequal. Pure Appl. Math, 5(3)(2004), Article 53, 6 pp. (electronic).
- [2] CALLAHAN J., Advanced Calculus, "Lecture Notes",
- [3] GONSKA H., PALTANEA R., General Voronovskaya and asymptotic theorems in simultaneous approximation, *Mediterr. J. Math.*, 7(2010), 37-49.
- [4] DIRIK F., DEMIRCI K., Modified double Szasz- Mirakjan operators preserving x² + y², Math. Commun., 15(1)(2010), 177-188.
- [5] KHAN M.K., Approximation properties of beta operators, Progress in Approximation Theory, Academic Press, Boston, MA, (1991), 483-495.
- [6] KIROV G.H., A generalization of the Bernstein polynomials, *Math. Balkanica*, (N.S.) 6(2)(1992), 147-153.
- [7] KIROV G., POPOVA L., A generalization of the linear positive operators, Math. Balkanica, (N.S.), 7(2)(1993), 149-162.
- [8] REMPULSKA L., SKORUPKA M., The Voronovskaya-type theorems for Post-Widder and Stancu operators, Int. J. of Pure and Appl. Math., 38(4)(2007), 467-479.
- [9] TUNCA G., TAŞDELEN F., OLGUN A., Some approximation properties of beta operators, *Proceedings of the 8th wseas International Conference on Applied Mathematics*, Tenerife, Spain, December 16-18, (2005), 215-219.
- [10] VOLKOV V.I., On the convergence of sequences of linear positive operators in the space of continuous functions of two variables, (Russian), *Dokl. Akad. Nauk SSSR*, (N.S.), 115(1957), 17-19.
- [11] VORONOVSKAJA E., Détermination de le forme asymptotique d'approximation des functions par polynomes de M. Bernstein, C. R. Acad. Sci. URSS, 79(1932), 79-85.

Alı Olgun Department of Mathematics Faculty of Science and Arts Kırıkkale University 71450, Yahşihan /Kırıkkale, Turkey *e-mail:* aliolgun71@gmail.com

FATMA TAŞDELEN DEPARTMENT OF MATHEMATICS FACULTY OF SCIENCE AND ANKARA UNIVERSITY 06100, TANDOGAN/ANKARA, TURKEY *e-mail:* tasdelen@science.ankara.edu.tr

Received on 25.06.2012 and, in revised form, on 23.11.2012.